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Fixed ?Of.n“‘(FXP) SJSR’MS“- Add ction Sobtraciion

lw +his hondout we resent +he basics of Eived point
5(‘15{'6??\5 s we“ 69 Iqow 4o do ?ixec{ 'F"Cn‘lt Otcur.""ioh- 4nd
subtre ction. Bodh cases of 'uhstneJ as well &5 S‘r;rhed
Scjs+ems ave consideved. _ '

A fixed ?oin-f num bev s re(re.s‘en*ei tn Jehevq! %S

X = Apog Xgeg 7 7 Fa Lo @ Xop Tmp 7 Xk

'\_/\/_\N “/\/—\/\_/
'l\n-iegev ?o,rl- ] _ ng.cic‘Obgl rq\f"

vg d i
peint
\(— the vadix used ¢S ¥ dhen {he velue of coch number
X s . h_z ‘ o ) -
“‘— . ) -
X\mloe :’x-lq-l‘r F Apeg ¥ - ..+qu +oxo\¢-+-1_1.‘,. +'x_.,?_r +
- R nl- ¢
-.-+‘DC__+-'\’ _ Z'x{-'{'

to—k
while 4he JC‘S’ELS xS beloT in the se b £o).1_) -.)r—_{,}‘

The SJS+6M is colled ﬁi)cecl Pof-'ﬂ'!‘ Lecc.u.s'e +he ve dix
point (o) assomes o fixed [ocqtion. The radix peint
caw be locgted Someplﬂ,ce im dhe middle of the “Umke"_')
in which coge the number will congist of aw ;.-,le{rev- G
well 6§ & @\rqdimne ( '{’Q?'(' (l{he {n +he number Xe,(»ove))'
it can be locqgted aflev +he right most d {gdd ( like
X =%pey " X4 %o .) in which case the nuomber & 100fs
'ln#e(gev)' ov iL cqn be locgfed before the lefémost
disijr (_li#c ')(:.:L_ix_z...:r__n_) in which cege the
nombev i iOOO/o Evacdiong|- |

If 4he vadix is (rd0 we then hpe ¢ decur( Sprfew




) a

it r=9 oc{gl) _if vy=2 Bc’no,vj e tc.

™ +hig honwdout  we will be concermed with Lc’hgrjv
SJS'(e‘MS ow (\r: 2), A‘So ouvy Fi_xecl Foc'vﬁf h vk ber §
will be ¢ssowed {o be .(Ooo/q i—h“ffe'(f ((Ibe X:'—Zu—;-;-:’CJ‘Xo).

U""Sij"ed L(’mg\’J Fixed Toini (F‘XF) S’JS*G’W*S':

In soch o sjs-l—em an n-bct unSifheJ now bev  is of +he
Lovvn X = Xyyoy Tnon * KXo Heve , all +he beks of X
"eYYeSen'l' Mﬂ\‘fhil-ucltz_ (-Hweve is we  siew bed ihcluc(ed').
The bit -y i the mosd significgnt bit (MsB) while
Lo s the [eqst sighff.'c;n{- Lé(—(LS B). The 'DJhs’rm'c
‘R%h‘?e ('D'R) of on n-bd l—;{nqu ohs::fn.ed FXP .S’J,r{-en-.

is PR = (o 2%4]

Si‘snea Lc’nqu FX?P SJS-[-G’MS?

In svch 55546’77\5 avw n- bt siered number 1S of .‘f‘hf
form X =%y Xgen - "X No  wheve the le€f most bet
Xo-y s dhe sign Lt (SB). [P w, =0 +hef weens the +
X is psitve  while 1f Ry TL  4hgd wegns fhgt X s
V\Erss-l'l'ue.
Theve ave thyee dcffeveh-l- Sj.S"fMS' .Pw TPFY@.S’ET)"‘!.‘Y'J’ Sipned
FX P wnuwbers: The Sign _mqjh{-{-ude .fj.r{-em) +he L%
COu?(eu«eu{- §JS4em and +he ‘2’5 cowrleweu-(— SJs-I-evn

. S_E,_Yn mq’rhf-(uc!e S:YS'{'E"“

Heve Om(j Pos:#iue 4 (X>°) is refrefen{ecl Gs
X: 3'1.,,_21,,_3 .o Xy Ko

Sigu bet 7 wggm‘lrude
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The oddctive ivivevse OE X is +hen reprefenFeJ Qs

_-x - i 'Xy,..vz'xh__s - e ‘7(J g &
L
SB/ Wwa.,‘fhf{uc{e

THQ 'DJhgmfc 'Rﬁ,\n‘SJe Of %n h—far} Lc'ngt':r Sc:rh u-fykf"m'-/uc(e
.SJ.SJrem (s

DR = [-(2"h4) 2 o1
v o S iew mmjni'{ude S‘ys{em the nouwber 2eve hgs

'l"vo \'C’?Ye;ey,{-s {-[ong

40 = OOO-"OO
= L o9 .. 00

o Ls couQ?leu—«emL 5’3546’“'1

Hevre Omz fosi-’:iue nquef X ()( >0) is represeuded g
X:B 'xh_z‘xh_3 - 'XJ'XO
A
Sg |
The additive invexse of X is then represenied 4
_;.)(: i 1::;‘1..,_3 T 7 (wheve T megns the to T
/ oPngl-ovJ .
s

The 'DJngmfc ?qn{rg o@‘ on n-bel 4’5 cowp(e’afeu#
System ig the sewme g5 the DR of the sipn wgpurfode
S:Js\lem ov

ve = [-(2"7-4) " 1]

|h ‘H"'C .{95 comg‘eweu{' SJS‘FGW! Jhe ‘?UWL&V 2evo ‘135
Q\SQL\O 4we diffeveu{- Ve‘,vege..,-(-g{-f(:lhj:

1L0=000 - 00
—no:“l""‘




@e

He\(e)qSO‘(:\(}) thj ?os:."h've nober X ()(>0) iS représes ted
as Xz_ ?xh_z‘y_h_a P XYy Ko

. 2?5 cou.cf[ewe.u'l' SJS-{E'“’)

£B
The add (five ivvevse of X (s +hen
- X = (li':i’xh-a %X Xo )+t

The 'DJngmic ']Zgw‘f.e, of an n- LL‘. 2’5 couplewen t .&‘Jp.r{em_
is b('] oue wuu bev lgvper thew +he DB of the 1% couwpl.
oy Si!n \me,jm.'l-ucle. SJ.Y'{'GMS ov

w=[-2" L]
n the 2s Cﬂw'p(emeul- I‘Js{em the nuwbev 2eve hgs &
Uhi?ue Yegresem‘g{—fon. Obsevve H\S{‘I

40 =000... 00
while -0 = wiv-- 1!
+) '
o000 - --00
ovt

~ The vyeqson th the o’ cowr‘eweu'{' sjg-fem hes ouwe
weve slet iw ils ‘Djﬂfmf"- Tqu;e (Cowfqrer} fo the Sipn
W\O,Svri-lude or +he L5 cowrf€weu+) is +the Pact thet
the evo hag ome vm‘guﬂ regvesen{—s{'l"’h (‘2:5 oppese d
do lwo diffevent +hgd the ofher cystems Ye;udve)_




&)

Addition ond Soubdraction iw Sigwed béngry FXP 5y Stemg

\h this seetion we will show how addifions and SUL"YQC‘hDh_{

e pexforwed in the sien mapgnidude , 15 cowplewent and
2’ cowplewent Sysdems. Discussions o bout overPlow and
U\ncle-r? ow will be imcluded.

. Aolclc'{ion/sukhqc'lt'on in +the Sff’h .me.fm'-lucle Sr.ﬁ‘em

When doine additions or Sublractions in & Sign \ma,j’nl"lvcle
SJSJrem w§ [aqmca,(l hove 4o add or svbiract +he maeni--

bodes of the fwo numloers and ma,lze sure +het we refuvrn
the covvect sign bt of the vesolt. Theve gre +wo cgses:
The casge of a fvue qdd (tiovn and 4he case of 6 4rve

subtvgclion. A 4vwe addition has to 4atke place when

qédihs nombers °.¢ the S'éme sipn oy sub+rqc+rncf num bers
€ diffevent signs. A frue subiraction hag o dgke place
when gyblrgeting numberg of +he same sign O gddiny
numbers of di fevenl Signg. Since Sign ma,jm*ude
Add‘lons‘/sub’crgdwhj invelve O(JC'L{'IOHS/SUL{’YQC‘{"OH; be tween
UhS(‘SJned mq3n|+ude;/ we hgve {o show how we cgn Jo.
o,JJEJrlans/sobhgc-l-ions be bhveen Uhsffned nom bevs.

- Addition be{weeh unsilg’né-l nuw Le\rS

Su“:ose thst X qnd Y ave twe fixed ?o(m"- n-bcf unsSipned

fumbers X =Xnoy Xn.g too - Xg Ao and Y= Fn-iJnz’" "J1 Jo
1 1 1 1

Hs® Ls® MS8 LS B

\h ocder 4o Co«ufu{-e X+Y we Ju$4 f@rform the rejulfr Lbf:hfl'y
addition befween vectors Xz 2pg' XX and Y:Jh_,"'(jJJo.
Su??oSe -(—hg{- X+Y = Lyog - Xy Xo

+) 3:»1-.! e J1 9o

CQ\"(j BU.‘- of qdd t-"lalq CI Zh-".l .- 2; 2o
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lo dhe above , c is khe covry oob of the gddition. Then if
=0, the corvect sum X +Y is Z=2y 4 2n.g - 21 0.
Huwevev) ie cs,{)- then gn overf fow occured which ucesn §
+het 4he vesolt X4 Y s oviside the Pyngmic Rgupe (ov
X4 >27-1). | ths cose the vectr ZnyZnz - 2 S
not +he covrect Sowr Xt Y. |

Exomple {: Add dhe .Couowl'hj fwo Y-bit unsipned now bers

X (5)y= Corot), 5 Y= (), (o119)

The Dyngmic Renge of 4 4-bil ansigmed System is [0 5]
X+Y=s 010l Since C=o0 <heve i3 no ovey £low gnd

ﬁ X+Y = (om), =(11),, (IlECo ISJ)_I

Example 27 Add the Lollowing dwo  4-pct vnsipned num bers
X = ([0)10.- (.10.{0)2’)‘ Y:(8)10= (1000)2-'.

The p® of q Y-beh uhSi‘_S'ned S’JS'I-em 'S 9p8in [o 157,
X+Y; (ol

1000

teol®

Lasince C=1 +het megns thed 9w overflow occouved.
Observe thed X 4Y =(18),, > |6 (oviside »€ ).

— Soblraclion belween unsigned numbers

Cublvaclion between two Uhslsneé num bevs might vesult in g
Y\QSQ,-‘NQ fesult w‘\ic") wi lf “}E\q hi(’ﬂl alS'er (:C'!

Sugpose thsd Y and Y ave $uno fixed pocnt n-bek unsigned
nomberg Xz Xy An-z - XsXo and Y-"Jn-{Jn—‘z."‘J.igo

i 1 4

Ms8 LSB MS 8 LSE
\v, oxdev 4o comruh’_ X-Y we hgve 4o PE"'E"'("“ the bfhry edd( ton
)(-l' (2’5 cow F\euuen{— Of_ Y) SUPPOSQ Hagt $he Bdng\g _QJJC‘Ha“i
X + (s complewent of Y) Yesvlds in the ‘aiqgg vec tov

(C Z2n-3Bn-z- " &3 %o)z

cs Y\’j 0"(’ °£ 94:“4—507, __J




O
lv the qbovc) c is the cqery ovt of +the qddction. Then

.- £ c=1 ¥hel megng +het vesulb = X =Y 20 (or X2 Y). fv dhis
Cﬂ.se X—Y: (2,,..12.1,2 e '2'.\_2'0)'2.

- i.t =0 the b mME ¢ ng -(-lqg.l. resulds X—YC_O(OY' XCY) ]h Hhis
C35€  the vesult X —Y must hsve o neggtive (=) sign  while +he
Magnitude of the JifPevence will be =(23 cowplews. of (Zn-( - 7, Zo)),
[ o thex words if cmo then XY s — (5 cowpl of (2umr - 20%)).

| Example 3¢ Perform dhe subtrgction X—Y wheve X and Y qve +he

‘Follouin‘; 4 bt V"Sf_fnecl numbers: X= (7).!0..-.-(om)2) Y;(s)lo::(o;ot)z.
7= ol

75 couplof 6 = 10 11
¥) Tooto |
Lesince e=l = vessld 30 = 7-5 5'@‘”")2, = (2).:0‘

Exampl 47 fecform the subbey cion X—Y whevre X qnd Y qve +he
?ol\owing 4-bid unsigned numbers : X,-_(s)w,-_- (Olol).,_)' Y:(j)_w: (O“')L-
=040
25 cougl of =100
¥) o110 |
Ls Stnce ¢ =o = vesvld <o = 5-T= -—(7-75cwrl- °f(luo))
= —-(oolc)z = ("Z)_Lv-
wheve Y gud Y qve the
following 4y -bid umsigned mumbers : Xz (5, = Coro1),
Y= (S)lo = (ofotl), .

o 5:O|0[
‘ o 275 col.uPI. ue 5 = IOII\

E?‘?M?lf 5 ?e\'gorws the Svblvyction X-—Y

*_) looocQ
Lo since. c = = vesolt 20 =D 5-5 = (o0w), =(0),
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Question : When Ferfor'mlng subtygction Lolueen tun Uhs:;rv}eJ nvm b@v;
Cn we check +he s‘{:fn bit C-I—he biijusi ri;:hl- Of -H'ze CerJ out E&L)
insteqd of the cg ey out Lfl—) in order o determine if

Ji(’f’e-rence >0 or difference <o 2

Avswev: NO
%__'_

The fo”owiwj) +w0 ex.qu)‘eg wi il C|°.rl'-fJ +he qbove issve.

Eﬁﬁmftﬂ G: Per.eovm %e SUHﬁ_C+ion )(--—Y wl—,ﬂ,e X 0.“:1 Y gve _qu
¥ouowin§ Y—b it vnsiened numbers - )(:(ls)mz (rm), )

— = Q04 .
\f"' (ilo (O )2:
15 =11
2% cowplewentof 4= 1544
+) 4 1440

LL'—> Sign bif —4

| vy oul— =1
The CQY"J out l’ei"‘j e;uel ko & gujfej’fg‘ —H\g-l- +he Jff?eren e
X"'Y s 2o (0\" thet 15-31 = (1110)2"" (‘*’1“)‘,_0 which ig Correc-f_).
"On the olher 'nthl,, the Sff_n b§4- beihcf e$ug{ 4o 1 SvJvc;?eS 45
+het the difference X-Y § o (which is uuran(r_)_

Exqm?\e T Pevform the subdrction X =Y wheve X and Y ave +he
?olllowing H-bet unsipned numbers : X-‘-'(.i)lo-'-— (00-0_1)2). |
Y= (15)0= (1), - | |
l=- ooo4

Zs covaplement of 15= 0004
¥) 0000

‘ L—+sign bid 0 .
9 vy oud it = 0.
- The Cgrrx ool il beiw QT/ug( {s © S\J_f_fer‘-f ot the c“ffer‘en ce
)("—Y<G L Thy §~-40 = — (2’5 C°"-‘?|€“4€H ¢ of (oo__to)) = -—(I llO)?_ -"('-I“)w




(which is {he covrect Ye.fu{wf). On +he other hand,
" the Sigw be4 _Ioef.vlj eiuq( fe O Svjjcr\‘f the £ Hhe
diffevence X—=Y 2o (which wvvhj).

Example 8¢ Perform +the addition X+Y where

X and Y «ve +he followihg 5—bed Sipn mq(jh.'+u4e
nombers: X = (ottoo), = (-{—12)10 ) Y._-(l““)z:(._g)j;_

Bere +he htwo numbers X end Y ave of J«.'f.’(ew:n%
signg  and the addition X4Y is 4o be performed. We
thos heve }o ?evfofm the J?o“owf'-"ﬂg sobivaction:
(Mﬁgh't-\-ule of X)_—(MGJHHVJe of Y) :<“°°)z'_(“”2
= (lIOO)z-’r(Z’s cowplequk of (ml)z) :(noo)z—l*(m’."‘l)?_
= 1400 -

+) ool

o 14104

Lo Since c=0 = vesvlt <o = :

= (M&Shi-(vcle of X)— (\"anh;'('u de "f \() £ 0
= V‘W«Sb"('“«le of X < mqg\a‘i{-ui«e of Y

Sign bif of vesold = Sign {id of muwber with the
\quesl qunf-tucle_::‘ sig v bik of Y = 4

=

9w d : : _. .
N&Jhi\‘ude of X4\ = 2’s cowpl. of (um) = ooi)

Thug X+ Y= (1 oo.u)z’: (-3)10.

Note © In +he case of subivection befween untipned

nowbers, an overflow cgy never occov,
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- AJJL{-EOV)/SuL4vd1c-(—{on tn the .'[_js cowfleweul— SJ.s-{wevn

— Addition in the s Cowflewem" S,_'l’i‘e“”

S"‘\’P°S€ fhel X and Y ave fwo h—bef S‘t’jnéc{ now ber ¢
C-Hwe l} cowfleu-ceq{' Sysbem s used fov vq:re;eqh‘n

SiSv:ecl nuw bers heve‘g‘ Soppose +hgt X = %oy Faem2 "0 %o
o v Y:J“"!gn-—‘z J_, J" wheve Xy-y and Ju-t &€ the
.Sl'S\n bids of X and Y. Then i ovdev o COLUFU“’E
X+Y we hgve fo Pev{ox’m +he Lt’.nqr‘j o ddfivn

be bweew vectors X =%y = KXo Qnd \(:-'Jf_,.., -"J,Jo
emd add to the vesulf the cregled cgvry ovd CE’“J
avouwnd cgvry oot e(-C). |n of bevy words we do

An- Xp-2g -+ X1 %o
-l-) gn~t gn-z - YL Yo
C- Zn-\ Zn-2 - ' 2y Zo
Ca.,ws oul Of Qc”(“fﬂv]—f
Then X+Y= 2n-tZn-2 - 2o
-l-) c QJJEnS co,rrJ ouf-
‘wl w o .

Wy 1 Wy -
. JW

Y ave the fo!lowiwg h~bed S'ffﬁecl nom bers (I’S Cow.f{eweuf‘
SJS{?W‘ U US'SCL -f“‘f Tefreseh{-(ns Sl‘Sned huwkev!):

X:('iiiO)z = (—-.i. (o )' Y?(Q{oo)zs @-Q)Lo .

Exqw[,]e q: Pe,-fof.m {vwe add (tiom X+Y wheve X gund
|

1§40 coio L
JJ yvg ov
-i-) 0400 +) 1 €y ¥Yvy
i oOolo o0L4

‘jcqvﬁw{; v-v:; x4y = (°°“)oz,'—' (3)10




e

—Subtvgcdion v twe g% Coutlewend system @Ok
Soppose dhgt X=%n-y - FuXo awnd Y:gu—: e Jide eve
two yw-bit _ﬁyue& nuubevs (1’5 cou-fpfew&( Sys fe v.cgcf
Q"\f Y(’{»rc’geul-{ug_ J‘t’j’wed uvw(oewd). Thev
X=Y = X+ {s cow pleweut o{_’ Y (ev\d aveund cevvy out el-.c).

EW«W?IQ {o: TPecfoxym X—Y wheve qu{ Y ave the

Qollow(mg 4 bit Signed v w bevs (.{’g cowF(.sJ.sféw oo used for

refrES‘eM-l-in siened huu..bev_:): X = (“'0)2.':(_'1);0 Jj |

Y;(“’“)-,_:C“‘()_w. '

K=Y = X +4s cowpl. of ¥ = (l(lo) + 45 C°“’(’l-°f('°“)
$'(\llo)+<o;oo)

e 0010 {
0100 t @dd cavvy °v
P

1 Cot@ ool

T X=X = (oon), 2 (3),

~ Overflov/Undex flows

Awn ovevilow/uudevf-’(‘*w W\igl-.-l Occuy when quCng nowbevs
of the some sipw. Whew o,cld{vns: nowbevs of diflevent
5‘5’“5} ovevflow o« vndexflew cgn wever occcuv.
Overflows awd uhdevf("@s ave <asily detectghle o5 follows:
1€ 4wo posctive mowbers gdded fopether vesolt in o
nepgtive vegsoll, +his indiceles am over{flvw/-

o & if fwo nesg-H-ue wowbevs gdded fopethev vecolt
in o pogitive vesu (b, this imdicetes gn underfleco.

€ xowple 11° Using the s Cow‘:lemeqf' _('Js-lreu- pevfovw  the
addthion of the 4 bib nowbers X= (oroD, = (45,

and Y= (oo, = (+ 3),




’: Cgf\‘s Ovl'

o1 0| | | @OL

. +) 00 ||

{500 '
L—» Sigu beb =1 wegnms thel veguld s wegstive . Since the
twe uvwbevs +thed weve sdded weve bt ?(93(:1(;\}{
Fhgt wegng thel o overflow occuved. This wes
expeclted Sivce 45+ 38 and § (g oviside +e
'DUn- Revgzg of & 4-bck 1% compl $g stew
(vp = L—7 7_7)

Examnyle 42 Usivnag +he i,; cowpleu«eu+ s‘js-le‘m .?evform

the q;(uli-fio:\ of the 4-bib nuwbers )(:*(\ow)z = (*5)_“,

ond Y= ((on)z: (-—q)lo .

1040 ojol
+) L0441 4.) i add cqvry out.
4 o0io0 14 9110 | '
/ L—»..s’:'svh Led =0 means +hel vesold i

?"5;{'!'\13 . Since 4he two wuwbers tig#4
weve added weve bold, “e,ffh'"", the t
mMegng -{-l.g{- -2 uy,Jev((ow o ccuved .,
This wes expected since

(“5)4-(‘-’{) = =9 and -9
ovlside +he PR (ve=C-7 -Tj)

® AJJi"iﬂh/ﬁuL{'Y“hc*"fﬂh in the ?\’S Cowrlemeu{' J’J& {'e_‘:)

Suppose that X=An-gIn-2 - 4% aw d

\(_____ J“'-‘ 3“_2 e Jigﬂ ave {wo wn- Lod S'I‘X he o
numberg (6"’\6’ 275 cowflemenf]‘- {T;-{-em i vsed here
.FO-( Vt’f?f}&h 4—1'“; sfcfheJ N Uy Levs). T he f:c'\‘s Lp—y

Gw 4 Jw-s ave the sign bets ¢ X aud Y
v avdex 4o do the addition X+Y we hsve 4o




?e-rﬁo(m dbe bivavy addifion belween vectors
X & Xpyoy Tn-g =+ XyXo awd Y:Jh_{c‘}'h_z - Y1 Yo )
awnd Jus{- igque the cvegted cgvry ovf. Dv im othev

wovdg
Koy Xppeg - o - - KXo
| . +) gh"l gn-z . . . .JI jo
>< Zu-i Zv-2 - - 3 Te
Al
sl.SVl Lt:" i .

lw ovdex to do the sobbvogction X-Y e&ll we do
is X4 s cowpleweat of Y ((gnove csvry ovt). of
_ Comse 25 cowplewedt of Y= (£ cowplewen b of Y) ¥4
ﬁi’ E?ﬁ"t"_‘fle \3- USin the Zs co'u-r{eweu{- .s‘ysh’w Fevfovw the
i __ addikion X+Y whee X< (lae), = (-2)10 eqwnd
Y=(o110), = (+6),

1440
4+ o140

#-__

0100

g e T x4y s (e199), T (+4)0
Exouwple 14 USin the Z¢ cowflewewf- SJSLem fevﬁom +he
Sublraction X—Y wheve X:('“")z: (-2)0 an d
Y= (sot0), = (€hia o
X—Y = X +7s cowpleweut of Y = (mo) + 25 cowpl - of Ctore)
= (o) +<(olol)+l-) = (1) +(olio) |

110
+) ot 10

ﬂ-ﬂn—-
- o o o
lsaofﬂ@ J—N
_A1

L XY =(n|00)2_:c+‘l)[o .
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— Overflow /Uh&evffow s .

Aw ovevﬂow or vudev low mlﬂ- ocCuy nu!J« when O,JJ"hf
nuwbers of the Sqwme cign . ev a.JJc«ng nowbers of
differeh{ Si‘g’hf) oveY¢(M ov Uquvflow Ca ' NEeVeyr oLy,
D\JGYE!OLUS gwd deevflowf ave eofil c(é’{-ec'(’que_ &S q&”""‘)f:
1€ dwe posctive now bevs added 40!344\('\( resvlt iv &
hegq{ive ey H/, +hus ivdicotes an ovevf(ow,‘.

and if $oo uejq{-{ue nowber( gdded -(-o‘feHer resolt iw
q?osu-ive regu[-b +his  mdicstes

awn  undevfow.
Exam fle 16 ¢ _USihg the 2% Cowfleweu‘r' .‘:’JS"QM ?eyf

+he addition of the 4 - bk vuwcbers X:’(ono)7_= (+6).10
evd Y= (mol)zf(-{-g)m .

ojio
-I—)olo;

y jo it
18“09 L Since stiq (,L‘--’-"l ‘H1§'l' wegn g .{.L,g,l. a o-\,e\rf(ow
' occuvxed (olpsewe thet +he PR of = ‘l“’?\‘

25 cowplew- system is DR=L-8 7] and the
Sowm +6 +6 = 4+t while 1177).

Exalm?le 16 : Usin the 2,3 COWFIQWQFJJS"% ?e\rfavw: +he

addidiomn o? {he - bt nuwbers 'X:(“oo)z:(_q)”'
and Y= Cton), < (—5)10 .
oo
+) et
o1l

Ighwe L—s> Heve Since the fwo uuw}»evs o dded gve «egs tive

Omd o ?osH:’ve vesull £ vetwwmed fuedl
megns  Fhet gn  undevflow occured . This
weas expected since pp=[-8 +‘73 Qn d

() +(-5s)= -9<-¢.




